### *n*-groups as *n*-groupoids with laws

Janez Ušan

#### Abstract

In this article *n*-group (Q, A) is described as an *n*-groupoid (Q, B) in which the following two laws hold:  $B(B(x, z, b_1^{n-2}), B(y, a_1^{n-2}, z), a_1^{n-2}) = B(x, y, b_1^{n-2})$  and  $B(a, c_1^{n-2}, B(B(B(z, c_1^{n-2}, z), c_1^{n-2}, b), c_1^{n-2}, B(B(z, c_1^{n-2}, z), c_1^{n-2}, a))) = b.$ 

# 1. Preliminaries

**1.1. Definition.** Let  $n \ge 2$  and let (Q, A) be an *n*-groupoid. We say that (Q, A) is a *Dörnte n-group* (briefly: *n-group*) iff it is an *n*-semigroup and an *n*-quasigroup as well.

**1.2. Proposition.** ([17]) Let  $n \ge 2$  and let (Q, A) be an *n*-groupoid. Then the following statements are equivalent:

- (i) (Q, A) is an n-group,
- (ii) there are mappings  $^{-1}$  and **e** respectively of the sets  $Q^{n-1}$  and  $Q^{n-2}$  into the set Q such that the following laws hold in the algebra  $(Q, \{A, ^{-1}, \mathbf{e}\})$  (of the type  $\langle n, n-1, n-2 \rangle$ )
  - (a)  $A(x_1^{n-2}, A(x_{n-1}^{2n-2}), x_{2n-1}) = A(x_1^{n-1}, A(x_n^{2n-1})),$

(b) 
$$A(\mathbf{e}(a_1^{n-2}), a_1^{n-2}, x) = x$$

(c)  $A((a_1^{n-2}, a)^{-1}, a_1^{n-2}, a) = \mathbf{e}(a_1^{n-2}),$ 

1991 Mathematics Subject Classification: 20N15, 03B30

Keywords: n-groupoid, n-semigroup, n-group,  $\{i, j\}$ -neutral operation

J. Ušan

- (iii) there are mappings  $^{-1}$  and  $\mathbf{e}$  respectively of the sets  $Q^{n-1}$  and  $Q^{n-2}$  into the set Q such that the following laws hold in the algebra  $(Q, \{A, ^{-1}, \mathbf{e}\})$  (of the type  $\langle n, n-1, n-2 \rangle$ )
  - $(\bar{a}) A(A(x_1^n), x_{n+1}^{2n-1}) = A(x_1, A(x_2^{n+1}), x_{n+2}^{2n-1}),$

$$(\overline{b}) A(x, a_1^{n-2}, \mathbf{e}(a_1^{n-2})) = x,$$

$$(\bar{c}) A(a, a_1^{n-2}, (a_1^{n-2}, a)^{-1}) = \mathbf{e}(a_1^{n-2}).$$

**1.3.** Remarks. e is an  $\{1, n\}$ -neutral operation of *n*-groupoid (Q, A) iff algebra  $(Q, \{A, e\})$  of type  $\langle n, n - 2 \rangle$  satisfies the laws (b) and  $(\bar{b})$  from 1.2 (cf. [14]). The notion of  $\{i, j\}$ -neutral operation  $(i, j \in \{1, ..., n\}, i < j)$  of an *n*-groupoid is defined in a similar way (cf. [14]). Every *n*-groupoid has at most one  $\{i, j\}$ -neutral operation. In every *n*-group  $(n \ge 2)$  there is an  $\{1, n\}$ -neutral operation (cf. [14]). There are *n*-groups without  $\{i, j\}$ -neutral operation with  $\{i, j\} \neq \{1, n\}$ . In [16], *n*-groups with  $\{i, j\}$ -neutral operations, for  $\{i, j\} \neq \{1, n\}$  are described. Operation <sup>-1</sup> from 1.2 is a generalization of the inverse operation in a group. In fact, if (Q, A) is an *n*-group,  $n \ge 2$ , then for every  $a \in Q$  and for every sequence  $a_1^{n-2}$  over Q is

$$(a_1^{n-2}, a)^{-1} = \mathsf{E}(a_1^{n-2}, a, a_1^{n-2}),$$

where E is an  $\{1, 2n-1\}$ -neutral operation of the (2n-1)-group  $(Q, \overset{2}{A})$ ,  $\overset{2}{A}(x_{1}^{2n-1}) = A(A(x_{1}^{n}), x_{n+1}^{2n-1})$  (cf. [15]). (For n = 2,  $a^{-1} = \mathsf{E}(a)$ ,  $a^{-1}$  is the inverse element of the element a with respect to the neutral element  $\mathbf{e}(\emptyset)$  of the group (Q, A).)

**1.4.** Proposition. ([18]) Let  $n \ge 2$  and let (Q, A) be an n-groupoid. Then, (Q, A) is an n-group iff the following statements hold:

- (1)  $(\forall x_i \in Q)_1^{2n-1} A(A(x_1^n), x_{n+1}^{2n-1}) = A(x_1^{n-1}, A(x_n^{2n-1})),$
- (2)  $(\forall x_i \in Q)_1^{2n-1} A(x_1^{n-2}, A(x_{n-1}^{2n-2}), x_{2n-1}) = A(x_1^{n-1}, A(x_n^{2n-1}))$  or  $(\forall x_i \in Q)_1^{2n-1} A(A(x_1^n), x_{n+1}^{2n-1}) = A(x_1, A(x_2^{n+1}), x_{n+2}^{2n-1}),$
- (3) for every  $a_1^n \in Q$  there is at least one  $x \in Q$  and at least one  $y \in Q$  such that  $A(a_1^{n-1}, x) = a_n$  and  $A(y, a_1^{n-1}) = a_n$ .

Note that the following proposition has been proved in [13]: An *n*-semigroup (Q, A) is an *n*-group iff for each  $a_1^n \in Q$  there exists at least one  $x \in Q$  and at least one  $y \in Q$  such that the following equalities hold:  $A(a_1^{n-1}, x) = a_n$  and  $A(y, a_1^{n-1}) = a_n$ .

This assertion has been already formulated in [11], but the proof is missing there. W.A. Dudek has pointed my attention to this fact. Similar issues have been considered in [5] (Proposition 1).

**1.5.** Proposition. Let  $n \ge 3$  and let (Q, A) be an n-groupoid. Also let:

- (i) the  $\langle 1,2\rangle$ -associative law holds in (Q,A),
- (ii) for every  $x, y, a_1^{n-1} \in Q$  the following implication holds  $A(x, a_1^{n-1}) = A(y, a_1^{n-1}) \Rightarrow x = y.$

Then (Q, A) is an n-semigroup.

Proposition 1.5 is a part of proposition 3.5 from [17]. In the proof of this proposition we use the method of E. I. Sokolov from [11].

**1.6.** Proposition. Let (Q, A) be an *n*-group,  $^{-1}$  its inverse operation, **e** its  $\{1, n\}$ -neutral operation and  $n \ge 2$ . Also let

$${}^{-1}\!A(x, a_1^{n-2}, y) = z \stackrel{def}{\Longleftrightarrow} A(z, a_1^{n-2}, y) = x$$

for all  $x, y, z \in Q$  and for every sequence  $a_1^{n-2}$  over Q. Then, for all  $x, y \in Q$  and for every sequence  $a_1^{n-2}$  over Q the following equalities hold:

- $(\overline{1})^{-1}A(x, a_1^{n-2}, y) = A(x, a_1^{n-2}, (a_1^{n-2}, y)^{-1}),$
- $(\bar{2}) \mathbf{e}(a_1^{n-2}) = {}^{-1}\!A(x, a_1^{n-2}, x),$

$$(\bar{3}) \ (a_1^{n-2}, x)^{-1} = {}^{-1}A({}^{-1}A(x, a_1^{n-2}, x), a_1^{n-2}, x),$$

 $(\bar{4}) A(x, a_1^{n-2}, y) = {}^{-1}\!A(x, a_1^{n-2}, {}^{-1}\!A({}^{-1}\!A(y, a_1^{n-2}, y), a_1^{n-2}, y)).$ 

Sketch of the proof.

a) 
$${}^{-1}A(x, a_1^{n-2}, y) = z \iff A(z, a_1^{n-2}, y) = x \iff$$
  
 $A(A(z, a_1^{n-2}, y), a_1^{n-2}, (a_1^{n-2}, y)^{-1}) = A(x, a_1^{n-2}, (a_1^{n-2}, y)^{-1}) \iff$   
 $A(z, a_1^{n-2}, A(y, a_1^{n-2}, (a_1^{n-2}, y)^{-1})) = A(x, a_1^{n-2}, (a_1^{n-2}, y)^{-1}) \iff$   
 $A(z, a_1^{n-2}, \mathbf{e}(a_1^{n-2})) = A(x, a_1^{n-2}, (a_1^{n-2}, y)^{-1}) \iff$   
 $z = A(x, a_1^{n-2}, (a_1^{n-2}, y)^{-1}).$   
b)  ${}^{-1}A(x, a_1^{n-2}, x) = \mathbf{e}(a_1^{n-2}) \iff A(\mathbf{e}(a_1^{n-2}), a_1^{n-2}, x) = x.$   
c)  ${}^{-1}A({}^{-1}A(x, a_1^{n-2}, x), a_1^{n-2}, x) = (a_1^{n-2}, x)^{-1} \iff$   
 $A((a_1^{n-2}, x)^{-1}, a_1^{n-2}, x) = \mathbf{e}(a_1^{n-2}).$   
d)  $A(x, a_1^{n-2}, y) = {}^{-1}A(x, a_1^{n-2}, {}^{-1}A({}^{-1}A(y, a_1^{n-2}, y), a_1^{n-2}, y)) \iff$   
 $x = A(A(x, a_1^{n-2}, y), a_1^{n-2}, (a_1^{n-2}, y)^{-1}) \iff$   
 $x = A(x, a_1^{n-2}, A(y, a_1^{n-2}, (a_1^{n-2}, y)^{-1})) \iff$   
 $x = A(x, a_1^{n-2}, \mathbf{e}(a_1^{n-2})).$ 

#### 2. Results

**2.1. Theorem.** Let  $n \ge 2$  and let (Q, A) be an n-group. Furthermore, let  $B = {}^{-1}A$ , where

$${}^{-1}A(x, z_1^{n-2}, y) = z \iff A(z, z_1^{n-2}, y) = x$$

for all  $x, y, z \in Q$  and for every sequence  $z_1^{n-2}$  over Q. Then the following laws

(i)  $B(B(x, z, b_1^{n-2}), B(y, a_1^{n-2}, z), a_1^{n-2}) = B(x, y, b_1^{n-2}),$ (ii)

 $B(a, c_1^{n-2}, B(B(B(z, c_1^{n-2}, z), c_1^{n-2}, b), c_1^{n-2}, B(B(z, c_1^{n-2}, z), c_1^{n-2}, a))) = b$ 

hold in the n-groupoid (Q, B). Moreover, for all  $x, y \in Q$  and for every sequence  $a_1^{n-2}$  over Q the following equality holds

$$B(x, a_1^{n-2}, y) = A(x, a_1^{n-2}, (a_1^{n-2}, y)^{-1}),$$

where  $^{-1}$  is an inverse operation of the n-group (Q, A).

*Proof.* Let  $n \ge 2$  and let (Q, A) be an *n*-group,  $^{-1}$  its inverse operation and **e** its  $\{1, n\}$ -neutral operation. Also let

(0) 
$${}^{-1}A(x, z_1^{n-2}, y) = z \stackrel{def}{\longleftrightarrow} A(z, z_1^{n-2}, y) = x$$

for all  $x, y, z \in Q$  and for every sequence  $z_1^{n-2}$  over Q.

1) By 1.1 and (0), we conclude that for all  $x, y, z, u, v \in Q$ , for every sequence  $a_1^{n-2}$  over Q and for every sequence  $b_1^{n-2}$  over Q the following series of implications holds

$$\begin{split} & A(A(x,y,a_1^{n-2}),z,b_1^{n-2}) = A(x,A(y,a_1^{n-2},z),b_1^{n-2}) \Longrightarrow \\ & {}^{-1}\!A(A(x,A(y,a_1^{n-2},z),b_1^{n-2}),z,b_1^{n-2}) = A(x,y,a_1^{n-2}) \Longrightarrow \\ & {}^{-1}\!A(A(x,u,b_1^{n-2}),z,b_1^{n-2}) = A(x,{}^{-1}\!A(u,a_1^{n-2},z),a_1^{n-2}) \Longrightarrow \\ & {}^{-1}\!A(v,z,b_1^{n-2}) = A({}^{-1}\!A(v,u,b_1^{n-2}),{}^{-1}\!A(u,a_1^{n-2},z),a_1^{n-2}) \Longrightarrow \\ & {}^{-1}\!A(v,u,b_1^{n-2}) = {}^{-1}\!A({}^{-1}\!A(v,z,b_1^{n-2}),{}^{-1}\!A(u,a_1^{n-2},z),a_1^{n-2}) \Longrightarrow \\ & {}^{-1}\!A(v,u,b_1^{n-2}) = {}^{-1}\!A({}^{-1}\!A(v,z,b_1^{n-2}),{}^{-1}\!A(u,a_1^{n-2},z),a_1^{n-2}) \ldots \end{split}$$

But

$$A(y, a_1^{n-2}, z) = u \iff y = {}^{-1}\!A(u, a_1^{n-2}, z), A(x, u, b_1^{n-2}) = v \iff x = {}^{-1}\!A(v, u, b_1^{n-2}).$$

Whence, by the substitution  $B = {}^{-1}A$ , we conclude that

$$B(B(x, z, b_1^{n-2}), B(y, a_1^{n-2}, z), a_1^{n-2}) = B(x, y, b_1^{n-2})$$

holds in the *n*-groupoid (Q, B).

2) By 1.1, 1.2, 1.3 and (0), we conclude that for all  $a, b, x \in Q$  and for every sequence  $c_1^{n-2}$  over Q the following series of equivalences holds

$$\begin{split} ^{-1}\!\!A(a,c_1^{n-2},x) &= b \Longleftrightarrow A(b,c_1^{n-2},x) = a \Longleftrightarrow \\ A((c_1^{n-2},b)^{-1},c_1^{n-2},A(b,c_1^{n-2},x)) &= A((c_1^{n-2},b)^{-1},c_1^{n-2},a) \Longleftrightarrow \\ x &= A((c_1^{n-2},b)^{-1},c_1^{n-2},a) \Longleftrightarrow \\ A(x,c_1^{n-2},(c_1^{n-2},a)^{-1}) &= A(A((c_1^{n-2},b)^{-1},c_1^{n-2},a),c_1^{n-2},(c_1^{n-2},a)^{-1}) \Leftrightarrow \\ A(x,c_1^{n-2},(c_1^{n-2},a)^{-1}) &= (c_1^{n-2},b)^{-1} \Leftrightarrow \\ ^{-1}\!\!A((c_1^{n-2},b)^{-1},c_1^{n-2},(c_1^{n-2},a)^{-1}) &= x \Leftrightarrow \\ ^{-1}\!\!A(^{-1}\!\!A(^{-1}\!\!A(z,c_1^{n-2},z),c_1^{n-2},b),c_1^{n-2},^{-1}\!\!A(^{-1}\!\!A(z,c_1^{n-2},z),c_1^{n-2},a)) &= x \,. \end{split}$$

J. Ušan

But

 $(c_1^{n-2},c)^{-1} = \ ^{-1}\!\!A(\mathbf{e}(c_1^{n-2}),c_1^{n-2},c) \Longleftrightarrow \mathbf{e}(c_1^{n-2}) = A((c_1^{n-2},c)^{-1},c_1^{n-2},c)$  and

$$\mathbf{e}(c_1^{n-2}) = {}^{-1}A(z, c_1^{n-2}, z) \iff z = A(\mathbf{e}(c_1^{n-2}), c_1^{n-2}, z)$$

Whence, by the substitution  $B = {}^{-1}A$ , we conclude that (*ii*) holds in the *n*-groupoid (*Q*, *B*).

3) By the substitution  $B = {}^{-1}A$  and by Proposition 1.6, we conclude that for all  $x, y \in Q$  and for every sequence  $a_1^{n-2}$  over Q the following equality holds

$$B(x, a_1^{n-2}, y) = A(x, a_1^{n-2}, (a_1^{n-2}, y)^{-1}).$$

**2.2. Theorem.** Let  $n \ge 2$  and let (Q, B) be an n-groupoid in which the laws (i) and (ii) from the previous theorem holds. Then, there is an n-group (Q, A) such that  ${}^{-1}\!A = B$ . Moreover, for all  $x, y \in Q$  and for every sequence  $a_1^{n-2}$  over Q the following equalities hold

$$\begin{aligned} \mathbf{e}(a_1^{n-2}) &= B(x, a_1^{n-2}, x) \,, \\ (a_1^{n-2}, x)^{-1} &= B(B(x, a_1^{n-2}, x), a_1^{n-2}, x) \,, \\ A(x, a_1^{n-2}, y) &= B(x, a_1^{n-2}, B(B(y, a_1^{n-2}, y), a_1^{n-2}, y)) \,, \end{aligned}$$

where  $^{-1}$  is an inverse operation, and **e** is an  $\{1, n\}$ -neutral operation of the n-group (Q, A).

*Proof.* By (ii), we conclude that the following statement holds:

 $1^o$  For every  $a_1^n \in Q$  there is at least one  $x \in Q$  such that  $B(a_1^{n-1},x) = a_n \, .$ 

Furthermore, the following statements hold:

$$2^{o} (\forall a \in Q) (\forall z \in Q) (\forall c_i \in Q)_1^{n-2} \quad B(a, B(z, c_1^{n-2}, z), c_1^{n-2}) = a$$

3° For every  $a_1^n \in Q$  there is exactly one  $y \in Q$  such that

$$B(y, a_1^{n-1}) = a_n$$

4° There exists *n*-ary operation  ${}^{-1}B$  in Q such that for all  $x, y \in Q$  and for every sequence  $a_1^{n-1}$  over Q

(
$$\bar{o}$$
)  ${}^{-1}B(x, a_1^{n-1}) = y \iff B(y, a_1^{n-1}) = x$ 

5° For every  $a_1^n \in Q$  there is exactly one  $y \in Q$  such that  ${}^{-1}B(y, a_1^{n-1}) = a_n$ .

 $6^o$  For every  $a_1^n \in Q$  there is at least one  $\, x \in Q\,$  such that  $^{-1}B(a_1^{n-1},x) = a_n\,.$ 

 $7^o~$  The  $\langle 1,2\rangle\text{-associative law holds in }(Q,~^{-1}B)\,.$ 

 $8^o \ (Q, \ ^{-1}B)$  is an n-semigroup.

Sketch of the proof of  $2^{\circ}$ .

a) 
$$n \ge 3$$
. Putting  $z = y$  in (i) we obtain  
 $B(B(x, y, b_1^{n-2}), B(y, a_1^{n-2}, y), a_1^{n-2}) = B(x, y, b_1^{n-2})$ 

which together with  $1^{\circ}$  gives

$$(\forall x, y \in Q) (\forall b_i \in Q)_1^{n-3} (\forall a \in Q) (\exists b_{n-2} \in Q) \ B(x, y, b_1^{n-2}) = a.$$

b) n = 2. As in the previous case from (i) we obtain

$$B(B(x,y), B(y,y)) = B(x,y),$$

which for B(x, y) = a (by 1<sup>o</sup>) proves that

$$\begin{aligned} (\forall x \in Q) \ (\forall a \in Q) \ (\exists y \in Q) \ B(a, B(y, y)) &= a \,, \\ (\forall y \in Q) \ (\forall u \in Q) \ (\exists c \in Q) \ y &= B(u, c) \,, \\ B(y, y) &= B(B(u, c), B(u, c)) &= B(u, u) \,, \end{aligned}$$

which completes the proof of  $2^{\circ}$ .

Sketch of the proof of  $3^{\circ}$  and  $4^{\circ}$ .

a) 
$$B(x, a, b_1^{n-2}) = B(y, a, b_1^{n-2}) \implies$$
  
 $B(B(x, a, b_1^{n-2}), B(u, a_1^{n-2}, a), a_1^{n-2}) = B(B(y, a, b_1^{n-2}), B(u, a_1^{n-2}, a), a_1^{n-2})$   
 $\implies B(x, u, b_1^{n-2}) = B(y, u, b_1^{n-2}).$ 

Now, putting  $u = A(v, b_1^{n-2}, v)$  and using  $2^o$ , we obtain  $B(x, B(v, b_1^{n-2}, v), b_1^{n-2}) = B(y, B(v, b_1^{n-2}, v), b_1^{n-2}) \implies x = y.$ 

b) 
$$B(x, a, b_1^{n-2}) = c \iff$$
  
 $B(B(x, a, b_1^{n-2}), B(u, a_1^{n-2}, a), a_1^{n-2}) = B(c, B(u, a_1^{n-2}, a), a_1^{n-2}) \iff$   
 $B(x, u, b_1^{n-2}) = B(c, B(u, a_1^{n-2}, a), a_1^{n-2})$ 

by (i). Putting  $u = A(v, b_1^{n-2}, v)$  we obtain

$$B(x, B(v, b_1^{n-2}, v), b_1^{n-2}) = B(c, B(B(v, b_1^{n-2}, v), a_1^{n-2}, a), a_1^{n-2}),$$

which (by  $2^{\circ}$ ) is equivalent to

$$x = B(c, B(B(v, b_1^{n-2}, v), a_1^{n-2}, a), a_1^{n-2}).$$

Sketch of the proof of  $5^{\circ}$ .

$$\label{eq:basic_state} \begin{split} ^{-1}B(x,c_1^{n-1}) &= u \Longleftrightarrow B(u,c_1^{n-1}) = x \,, \\ ^{-1}B(y,c_1^{n-1}) &= v \Longleftrightarrow B(v,c_1^{n-1}) = y \,. \end{split}$$

Thus

$$x = y \Longrightarrow u = v$$
 and  $u = v \Rightarrow x = y$ .

Sketch of the proof of  $6^{\circ}$ .

$${}^{-1}B(a, a_1^{n-2}, x) = b \Longleftrightarrow B(b, a_1^{n-2}, x) = a \,.$$

Sketch of the proof of  $7^{\circ}$ .

$$\begin{split} B(v,u,b_1^{n-2}) &= B(B(v,z,b_1^{n-2}),B(u,a_1^{n-2},z),a_1^{n-2}) \Longrightarrow \\ B(v,z,b_1^{n-2}) &= \ ^{-1}B(B(v,u,b_1^{n-2}),B(u,a_1^{n-2},z),a_1^{n-2}) \Longrightarrow \\ B(\ ^{-1}B(x,u,b_1^{n-2}),z,b_1^{n-2}) &= \ ^{-1}B(x,B(u,a_1^{n-2},z)a_1^{n-2}) \Longrightarrow \\ B(\ ^{-1}B(x,\ ^{-1}B(y,a_1^{n-2},z),b_1^{n-2}),z,b_1^{n-2}) &= \ ^{-1}B(x,y,a_1^{n-2},z),b_1^{n-2}) = \ ^{-1}B(x,y,a_1^{n-2},z),b_1^{n-2}) = \ ^{-1}B(x,\ ^{-1}B(y,a_1^{n-2},z),b_1^{n-2}) \,. \end{split}$$

Since

$$B(v, u, b_1^{n-2}) = x \iff {}^{-1}B(x, u, b_1^{n-2}) = v$$

and

$$B(u, a_1^{n-2}, z) = y \iff {}^{-1}B(y, a_1^{n-2}, z) = u$$
.

Sketch of the proof of  $8^{\circ}$ .

The case n = 2 follows from 7°. The case  $n \ge 3$  is a consequence of 7°, 5° and 1.5.

Now, by 5°, 6°, 8°, 1.4,  $(\bar{o})$  and the substitution  $A = {}^{-1}B$ , we conclude that (Q, A) is an *n*-group. Hence, 1.3 and 1.6 completes the proof.

**2.3. Remark.** In this paper *n*-group (Q, A),  $n \ge 2$ , is described as an *n*-groupoid  $(Q, {}^{-1}A)$  with two laws. Similarly, the *n*-group (Q, A) can be described as the *n*-groupoid  $(Q, A^{-1})$  such that

$$A^{-1}(x, a_1^{n-2}, y) = z \iff A(x, a_1^{n-2}, z) = y.$$

Variety of groups of the type  $\langle 2 \rangle$  has been considered in [7] (see, also [8] and [3]). The investigation of this paper was extended in [12] for groups, for rings and, more generally, for  $\Omega$ -groups. In [6] group is described as an groupoid (Q, B) which satisfies one law (i.e. our (i) for n = 2) and in which the equality B(a, x) = b has at least one solution x for each  $a, b \in Q$ .

# References

- V. D. Belousov: n-ary quasigroups, (Russian), "Stiinca", Kishinev 1972.
- [2] R. H. Bruck: A survey of binary systems, Springer-Verlag, Berlin-Heidelberg-New York 1971.
- [3] P. M. Cohn: Universal algebra, (Russia) "Mir", Moscow 1968.
- [4] W. Dörnte: Untersuchengen über einen verallgemeinerten Gruppenbegriff, Math. Z. 29 (1928), 1 19.
- [5] W. A. Dudek, K. Glazek, B. Gleichgewicht: A note on the axioms of n-groups, Coll. Math. Soc. J. Bolyai, 29 Universal Algebra, Esztergrom (Hungary), 1977, 195 – 202.
- [6] H. Furstenberg: The inverse operation in groups, Proc. Amer. Math. Soc. 6 (1955), 991 - 997.
- [7] G. Higman, B. H. Neuman: Groups as groupoids with one law, Publ. Math. Debrecen 2 (1952), 215 - 221.

- [8] A. G. Kurosh: The theory of groups, (Russian), "Nauka", Moscow 1967.
- [9] A. G. Kurosh: General algebra (lectures 1969-1970), (Russian), "Nauka", Moscow 1974.
- [10] E. L. Post: Polyadic groups, Trans. Amer. Math. Soc. 48 (1940), 208 - 350.
- [11] E. I. Sokolov: On Gluskin-Hosszú theorem for Dörnte n-group, (Russian), Mat. issl. 39 (1976), 187 - 189.
- [12] V. Tasić: On single-law definitions of groups, Bull. Austral. Math. Soc. 37 (1988), 101 - 106.
- [13] H. Tvermoes: Über eine Verallgemeinrung des Gruppenbegriffs, Math. Scand. 1 (1953), 18 - 30.
- [14] J. Ušan: Neutral operations of n-groupoids, Rev. of Research, Fac. of Sci. Univ. of Novi Sad, Math. Ser. 18.2 (1988), 117-126.
- [15] J. Ušan: A comment on n-groups, Rev. of Research, Fac. of Sci. Univ. of Novi Sad, Math. Ser. 24.1 (1994), 281 – 288.
- [16] J. Ušan: On n-groups with  $\{i, j\}$ -neutral operation for  $\{i, j\} \neq \{1, n\}$ , Rev. of Research, Fac. of Sci. Univ. of Novi Sad, Math. Ser. 25.2 (1995), 167 178.
- [17] J. Ušan: *n*-groups,  $n \ge 2$ , as variety of type  $\langle n, n 1, n 2 \rangle$ , Algebra and Model Theory, Collection of papers edited by A.G. Pinus and K.N.Ponomaryov, Novosibirsk 1997, 182 – 208.
- [18] J. Ušan: On n-groups, Maced. Acad. Sci. and Arts, Contributions, Sect. Math. Techn. Sci. XVIII 1-2 (1997), (in print).

Received 20 September, 1997

Institute of Mathematics University of Novi Sad Trg D. Obradovića 4 21000 Novi Sad Yugoslavia